Quiz #2

Name:

Math 141 Friday, March 1

< H Section:

| Question | Answer |

1 B There are 6 multiple choice problems, and 2
9 A short answer problems.

3 r% Mark multiple choice answers in the box.
5 /F\ Show all work for short answer questions.
6

1. Find the limit of the sequence with n* term
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2. Find the limit of the sequence with n'"® term

an = sin(n - m)
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3. Find the following function limit
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4. Does the series i 2"+l . 372n converge? If so, what does it converge to?
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5. Does the series Z In (tan_l(n)) converge? Why?
n=1 NO"'\(.Q~
(a) Converges - the telescoping series test. A = no

) ) ’(:o\nc.)
(c) Converges - the geometric series test.

(d) Diverges - the geometric series test. So L\ (h (k)) - 1‘“' (I) # O }

(e) Converges - the divergence test.

(f) Diverges - the divergence test. S (":ﬂv\-(v\))

(b) Diverges - the telescoping series test.
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6. Compute the following function limit AR 7
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7. (2 points) Does the series —  converge? If so. what does it converge to?
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z9(z+2)
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8. (2 points) Does the integral / dx converge?
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